7.2 Practice - Multiply and Divide

Simplify each expression.

8z2 9
D53
9In 7
3) 3 m
522 6
5) 73

7(m—6) 5m(7m—5)
7) m—6  7(tm—5)

r . r—=6
9) Tr(r+10) © (r—6)2

25n + 25 4

11) 5 30n+30
r—10 7

13) 352+ 21 ° 35z 4+ 21

z2—6x—7 z+5
15) r+5 "T_7

8k . 1
17) 24k2 — 40k ° 15k — 25

19) (n—8) o

n — 80

Adm+36 m-—5
21) m+9 5m?2

23) o= (2 +3)

25) —2t2_(5p—3)

40b2 — 24b

n—7 12— 6n
27) 6n—12 n2—13n+42

27a+36 , 6a+8
29) 9a+63 ° 2

31) x? — 12z + 32 . Tx? + 14z
2 —6x—16 Tx24 21z

33) (10m?+100m)

20m?2 — 40m

35) 7p2+25p+12. 3p—38
6p+ 48 21p2 —44p — 32

37) 1062 30b+ 20
30b+20 2b2+10b

39) 7r2—53r —24 , 49r421
r+2 T 49r+14

Source: http://www.wallace.ccfaculty.org/book/book.html
Saylor Course: http://www.saylor.org/courses/ma001/

18m3 — 36m?

8 4
2) ;%7

9 7
DR

10p 8
6) 5 ° 10

7 . n—2
8) 10(n+3) ° (n+3)(n—2)

10) 6z(x+4) (z—3)(z—6)

x—3 6z(x —6)
9 . b-5
12) B_b—12 ° b2—b—12
v—1 4
14) 4 v2_1lu+10

1 8a+80
16)@—6' 8

18) p—38 . 1
p2—12p+32 ° p—10

22— 7z + 10 z+10
20) z—2 "2 —1-20

2r 2r
22) r+6 - Tr+ 42

2_q1on —
24) 22 (204 6)

26) 2102 +16v—16 , 35v—20
3v+4 ©wv—=9

28) 22411z +24 623 + 622
63 + 18z2 245z —24

k—17 k2 — 28k
30) k2 _k_12 8kZ_ 56k

32) 9x3 4+ 5422  22+5x— 14
x24+5x — 14 102

n—7 . 9n+54
34) n2—2n—35 ° 10n+50

36) 7x% — 662 +80 . T7z®+39z—70
4922 +Tx =72 " 495° 4 72— 72

35n2—12n—32 7n2+16n—15
38)

4912 — 91n 1 40 5n+4
120424 150 + 21
40) 1022 + 34z + 28 5



z2—1 x2—4 24z —2 a®+ b3 3a — 6b a? — 4b?
41) - 42) :

-4 2272 ° 3z-6 a2+ 3ab+ 202 3a2—3ab 302 ° a+t2b
43) 22 +3x+9 x2+2$—8; z2—4 44) 22+ 3z — 10 2x2—$—3;8$+20
24— 12 3—-27 " x2—6x+9 z24+6x+5 2224+x—6 ° 6x+15

Beginning and Intermediate Algebra by Tyler Wallace is licensed under a Creative Commons
Attribution 3.0 Unported License. (http://creativecommons.org/licenses/by/3.0/)

Source: http://www.wallace.ccfaculty.org/book/book.html
Saylor Course: http://www.saylor.org/courses/ma001/



7.2
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